PEMO0036 CALCULUS 9 AUGUST 2017

QUESTION 2 [20 marks]

— y
(a) Show that the ﬂ = M and dx = Lyln(lo)

o= f i Y —x.
dx x+e’xyIn(10) dy  xyIn(10)-y or equation log,,(xy)+e’ =x. (5marks)

(b) Assuming that the following equations define x and y implicitly as differentiable functions x = f(t) and

dy

=glt), find — att=r.
y = g(t), fin dxat 7
xcos(t)+2x =t ttan(t)-2t =y (10 marks)
_dy  tan(t)+tsec®(t)-2 dy,
ANS: ix = 1+ xsin(t) &(ﬂ)_ 2
cos(t)+ 2

(c) The f'(x) for f(x)= (3x4 +5x2)2 is 72x” +180x° +100x>. Verify it using Quotient Rule. (5 marks)
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